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And is it then so — o951 9% 0% TRIND MW WY AN PN DY
that it is unusual to tell a craftsman, ‘sell my garment for me’

OVERVIEW

The &n»12 rules that if j2187 gave his n°%v to an 12 (for repair) and the MR
returned to 1287 the %Y of YW, he may use the n°%v until his N9 is returned to
him. However if 12187 took s'wnw Talis by mistake in the 2287 n°2, he may not use
it. X1 27 explained the reason he may use it when the 72X mixed them up is
because it often happens that someone tells the 7% that he should sell his garment
on his behalf. mooin clarifies this explanation.

- AT HY NN 9919 PIIN 1Y)

And the 1% made a mistake and sold the n°5v of 12387 (who gave it to him to repair),

instead of selling the n°5v of NWnw (who asked him to sell it for him) -
—11HNN 19°3N HY NN I 1N 193N HY NN 991D M0 NPNY

For the 1mX was planning on selling s'7w»w garment and instead he gave the

buyer s'121X1 garment -
- 99125 J]INY 19 WY 15N XY DN YaN

However if it were not customary to ask the 2R to sell on your behalf -
- 2195209 15 NN 1NN PN NYOVY NNPNM 1N 7P NY

It would not be permitted for j2187 to use s'WnYw garment because the 328 made

a mistake and gave s'J2187 garment to nw»w (and s7Waw garment to J21X7) -
= ANVYNN N33 IN YANN N3 95 199NNI9 "NT

For then it is like the case where his garments got mixed up in a mourner’s

house or at a party house -
$INOTV 1305 32PaN% NN PMIIND 1YY NN 19230 INIY IDD)

Where eventually 1v»w will return s'121X7 garment to the 328 and will come
back and demand from the 7R his (s"7wnw) garment.

! Therefore since it is customary to have the 12X sell a garment for you, we can assume that 172w asked the 1% to
sell his n°%v, so when J2I%7 is using s'Wwnw garment, NYMY does not mind, for he assumes his nN°9v has been sold (and
all he is interested in is getting paid by the 1X). See ‘Thinking it over’.
2 The logic of this (rejected) X120 is that in this case also, Nw»w would not mind, since he is receiving s'121%7 garment
in exchange. So it is just like the 2 sold it, and instead of receiving money for the sale, he is receiving s'121%"
garment as payment. Presumably the garments are (somewhat) similar (which caused the mix-up in the first place).
3 1t seems the criteria whether one may use the other n*v is dependent on whether the owner will want it back or
not. In the case of the 18, the owner does not expect to receive his n°"7v back, for he assumes it was sold; therefore
the other party may use it. However by the 7nwni n°a, the owner realizes that there was a mix-up and wants his n°7v
back; therefore it is MoK for the other party to use it.
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SUMMARY
The issue is whether the original owner will be demanding his n*2v back.

THINKING IT OVER

The rule by an MK is that 12187 may use s'Wnw garment, since the 72X mistakenly
sold s'121%1 garment.* However what will happen if the buyer is unhappy with the
sale and will return the garment; it will then turn out that j23X7 used sTwnw
garment, even though it was not sold (and 1wnw will want it back)?!°

4 See footnote # 1.
3 See w"R".
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